Barstool Ciara

ASSEMBLY INSTRUCTION

_Aj % / 9 _[y F) B Extra Parts|Extra Parts|Extra Parts|Extra Parts
-+ /
[ Hem o o jm | 2| s

x1 x1|M6x35 x4|M6 x4|M5 x1|M6 x4|M6x35 x1M6 x1 x1|M6 x1

STEP 1 STEP 2

STEP 3




	BSL53

